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1 (=] 2011 = = = 2
2 = 5 - = S 5:“(%*)% ‘(’A(f: & & 2 (29 R)
5100 SE34¢ 21,166,668| 20,572,996 593,672
5110 SE534¢ 20,966,668 | 20,402,996 563,672
5111 &3 1,260,305| 1,172,861 87,444
JI& 1t <pl MRS 3>
~1,816%+694, 0002 * 100% 1,260,304,000
<PlerMesta> BSEX 1,000
5112 +42 19,706,363| 19,230,135 476,228
J1 & ot st = 2>
~OISANSI N 737 +5,094,000 3,754,278,000
~JbE I 309% +6,004,000 1,855,236,000
~OIXIBYAH L 687 6,178,000 4,244,286,000
~AZEHS =4 16,467,500
-REIR B ~219,865,576
LSEF=HI>
~APEIAIRN Y 6752 +4,950,0008! 3,341,250,000
bEE 23484+5,836, 0008 1,418, 148,000
~OIRIBYAH Y  6632+6,060,0008! 4,017,780,000
~AZ S =4 1,182,000
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DIE=ns -CIZ2 A3 HE 137 %4,810,000& 658,970,000
-JHEAE 565,670,000 314,685,000
“0IMSEAHE  41F+5,946,000 243,786,000
-EHREXN 6,722,000
-XLEI X B = -1,890,000
5120 =&z 200,000 170,000 30,000
5121 S| = 200,000 170,000 30,000
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5200 H AL |2 8,204,441 7,230,003 974,438
5210 M2+ 7,020,000 7,020,000 0
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Il ot ODIEtEEXUS> 20,000,000
5219 JI23H& Y= 7,000,000| 7,000,000 0
Il ot N2 AHEL 2>
Mg 2 AESAU 2 &3 7,000,000,000
5220 J|R2=2+¢ 0 0 0
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5230 =X 2+¢ 1,184,441 210,003 974,438
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mEes 119 51,090,200 =122 613,082,400
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<HSH US>
ESMES 14& 740,774,180
S 2A 13Y 596,863,290




HE - HE FIIZEE 0l&A
<X &> (&9 : &)
m = =oiam | G o | oA & B 2 (29 8)
2 & S LA (8) (A - B)
JIE ARYE 6% 200,060,520
<BLuAS0H> 609 »8& x825,000& 396,000,000
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<X &> A EH)
=2 =3 = = 2+
2 = o - = @’fi%’f) of & S(a)2 & &8 2 3 (29w
. = - (A -B)
I8 <A AR 2>
-l R A E A 10,000,000
-5J18 =Y 5| UE=Z 92,600,000
BN JIZRHAEY £ 2,604,390
4200 Ze2l2gy 3,446,506 3,681,899 235,393
4210 A& 22l 1,598,730| 1,892,143 A293,413
4211 A=22el 303,606 815,001 A511,395
el <YBASE 4 HI>
-HEZS QA E4H] 50,000,000
<HIIANE QX 22IH>
~HIIAE X2l 30,000,000
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He - HZE FIOHEE Gl&A
<n& (B9 : &R)
=2 ct = = 2t
= = - = @’fi%’f) oo | A 4 8 2 (29 R)
2 g = (B) (A - B)
22|t —AEAs 2 A4 et 5,000,000
—ZO0HQl BoJAlE HXl S 15,000,000
-US2YA S EFZ A 9,020,000
—OHS2OAA S& OIFEX SAH 99,634,700
“ShMAlY T} MuetHEBS 2 AS3A 4,950,000
-JIEt A=E 22l 10,000,000
4212 Zdl 22l | 8,718

2zl <HIIFBHISKE=H>
“HIIZAH(2E) ¥ HYD| L WA 2,000,000
-HEI 2L WH # PCBS s& 242 3,500,000
Hi1gat ™It CH&4H| 900,000+50H & 4,500,000

<& H ZHI S X 244>
-S2II ARl 0 275,000 128 3,300,000
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<SHEFHIKRXE =8>
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G = =5idn | G g m | DA & &8 2 3 (29 8)
2 & S LA (8) (A - B)

HAXHFHE -SHOIX SXES4Hl (&) 18,433,800
-J|Et MEHEH] RXE U] 5,000,000

<UWEREHI= X 24>
-HERKIARXNE+Z 3,130,000& 128 37,560,000
-IP=22e2ldl C class8I1*9,000& 72,000
Ze| <AYHHISAE=H> 300,000& 12 3,600,000

SR <wFEHHIF A EH>
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<Xl &> (&1 @ &)
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“0l0i2 A2A0MA HiESS 2,000,000
-HHE M2 5,000,000
-22d 2, S Zel Akl 10,000,000
-HE2ZSII2L WA 2,000,000 «6H 12,000,000
SAMXALE <M AFH|L2HI>
-l 28 22/t (UpgradeZ &) 4,000,000
-PC/Z2ly 28 =2ldl 5,000,000
<UWERKIZHl=clbl> 1,000,000
WL <UEEXHI=cldl>
-DZ N & 15Jx550,000& 8,250,000
~OHPZY I (36V 400W) : 9JH*17,000& 153,000
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(Z2XE,0HP, A Ssta)], 22,
CO Zalolof 2)
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-Ad S0 I (600H) 160 +3,000& 480,000
-2 E X 4800t+3,800& 1,824,000
28 5= 160F+2,500& 400,000
-4Z ZtHOO0IEX 800&*600H 480,000
-2 2 (/) 16094*5,000 800,000
-=222 &) 1608 XI+2,000 320,000
-4& St=2EX 800&+600& 480,000
-OFAZEIOIE 160JH+2,0002 320,000
- (1244) 16008+8,0008 1,280,000
-5 =(35g) 1607H+1,2002 192,000
-SHAMEX 1600t+2,000& 320,000
-Ad Y EE 407,000 280,000
-23&2E(50g) 1609H+1,500& 240,000
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He - HZE FIOHEE Gl&A
<n& (B9 : &R)
G = =5dn | o 4o | 543 & & 2 (9 R)
z 8 8 Ol &b (A) (B) (A - B)

FOlR=Y -HWI3RHO0IZ 1602 5,000 800,000

3stH 28H7((7,192,000)
28 &= 160&*2,500& 400,000
-SESIHHDII 160I1+24,000& 3,840,000
-4& StESE Xl 320&*600& 192,000
-43 LK H0IEX 800& *600& 480,000
—OH = (1244) 160J0+9,000& 1,440,000
-2EX 800&*700& 560,000
-& 40= XI=1,000& 40,000
-48 2HAT] 800E*300& 240,000
Ot&r Ml MHZHl 1,800,000
2 -213 (¥Zphotol1290 TO07) 25,000 5K 125,000
-OI3t Xl 06550A( 1000H )35, 000 * 10K 350,000
-213 (¥Zphotol1290 TO09) 33,000 *5IH 165,000
-5 ZelHE&EW 310,000+2 620,000
-S54 SAMEX A4 24,200%10BOX 242,000
AlESE ENYI P 102]%700,000& 7,000,000
I ACAS 103/ %360,000& 3,600,000
HRIHEAS 95/x210,000& 1,890,000
HHSAAs 53]+400,000& 2,000,000
- X2l AAZEHI(18D]) 600,000
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HE - HIE ZOIHE A
<N &> o HA)
o = 5§?£§ a?IF& gj AU & & 2 N (29 - &
2 &} =2 Ofl A2 (A) (B) (A - B)

AZ Gt AMAMLEAS 33]*400,000& 1,200,000
TelAAZEH(28D]) 600,000
- RelASE XeDIFRE IEEet] 800,000
ZFeaguola 23]%250,000& 500,000
MDHH A S 123]%400,000& 4,800,000
SRR D12 2 ARFH 600,000
Motsh L AE 33]%250,000& 750,000
A ZLMESUAMAH  435]%420,000& 1,680,000
CAESEAAE 123]%150,000& 1,800,000
- AZIISHE S L A E63x220,000 1,320,000
St=a xS 103/%980,000& 9,800,000
- A Z0I M2 YA E435]%600, 000 2,400,000
- AESs &A™ 531%350,000 1,750,000
st U AF 23/*300,000& 600,000
S -ItMEHIOIZ 1000 2HIE*12,400 24,800
-2 100H%32,000 320,000
-2 X401 3CH*55,000 165,000
-HZTX+ 391+50,000 150,000

2k 2t -ZHZ A S =4I
SIAIR, dlZet S(40,0009x17) 680,000
BEI, g, X, ER(35,000&*355) 1,225,000
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M2 - HE FItEE 0l&tA
<X &> (Bt @ &H)
G = =oikm | G woa | SO 84 B 2 (89 R)
2 & S LA (8) (A - B)
2t EY9H, Mg, SRAYA S 350,000
2z & JI= 2,004,000
SAAEFE (5,000 5 A «105) 250,000
SHERL 5424 WETLHI(800,000)
&CD  R100094 %800 800,000
-2 ESIES 0 AN 45%+100,0002 4,500,000
-MZFHYEH DVoaHICI2
B0k 1094%50,0002 500,000
282 0F 10JH+50,000& 500,000
HE=XL -FA L X2ET (1,620,000)
HOUX ==+ 40%20,000 800,000
SANNEEF
clS<J1 40set=9,000& 360,000
cl S 4004%2,000& 80,000
SHER- bset=60,000& 300,000
-H&0[087 80,000
-2 EI|S B3I 0IZ(500,000)
5J48H+10ZE+10,000 500,000
-SI5E8 0VD & CD 500,000
-ZAE P& SHI(3,600,000)
5K BFx6E+43]%30,000 3,600,000
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A - HE F=I1EE Ol &tA
<X &> A dH)
G = =5dn | o 4o | 543 4 & 2 (29 @
o &t =2 Oif &4 (A) (B) (A - B)
HESNL -s=0/23 0 (600,000)
ST 2T 300,000
-F Ot Xt 300,000
-8 & SAHZXI(400,000)
A4E Xl 208t A+20,000 400,000
BREANSL -AM4E X 15 box*25,000& 375,000
-5 UESRZA Z2E EUY 630,000
3set*210,000&
-l Software &4l ,100,000
PCH Y 5&2+40,000&
BICI2HIE 30&+50,000&
psp umd 10&+40,000&
BIAHEDL 442 SAEX A4 59 A 25,000 125,000
QHAEEL -2 ALEXI(EHS0i01-A4) : 16Box*25, 000 400,000
-S0VD-R: 1091 *1,200& 12,000
-=CD-R:507H*800& 40,000
-S AL2 X1 (B4) : 1Box*33,000& 33,000
~OXEHIHEIOIZ(6mm) :5J0%5,000& 22,500
—&+ 4 (CLP-600NG) 2 24 E U 1 2Set*570,000& , 140,000
-HP(8150N) E 4 : 2JH*210,000& 420,000
-HP(Laser jet 2200DN):2JH*120,000% 240,000
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AN - A& FIEE 0l &tA

<n& (B9 : &R)
o = 25dm |G oy | 54 4 & 2 (29 R)
2 & S LA (8) (A - B)
IHACIRIZ - SAEASH(919,430)
AE X 22,900
2 &otE 141,800
A5aZeEHYa ¥ EY 600,290
25tE (1200E) 154,440
-180| A& EHI(7,931,800)
CIXtel b=
- ZetE 129,000
- OF3F 6044 (20H) 171,600
- LAEZC 79,200
- ZECIXQI(BICI 20, AFMEH) 1,038,000
- ArECIXIY (400€) 308,000
- HEATH 2AEER 123 600,000
- ABIE/HALE 200,000
LU=
- 2gX 1,034,000
- &K 308,000
- Ctelol (GC1930%10/GC143+6) 704,000
-&= 2 AN 1,960,000
- A4S R 300,000
- SIEME (93, SU) 1,100,000
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M - ME EIIEE OlAA
<Xl &> f . HMAH)
o = 2502 g’ﬁ&?’fﬁ AU 4 5 2 A (o9 ;¥
) 8 = Ol &24 (A) (B) (A - B)
IHECIRQIE —2&H)| A& IHEHI(3,653,000)
2HUSs
- X 418,000
- s 2 AN HEEE 2AE AN 2,285,000
- 2E2M 250,000
- ABIE/EHANUS 700,000
PEIUNA HUAB(21ESS):5box*140,000& 700,000
HLIAS (A& T):4box*240,000& 960,000
SIS (AI&T):8box*65,000& 520,000
2T Z(HE&E):20FH*200,000& 400,000
2THCI(H2ISAEDI):20H*400, 000 800,000
HE Dl :5set*150,000& 750,000
E3(&34501):1305+20,000& 2,600,000
O (212U E2EKGET102):60JH*2,000 120,000
HIEQIE D E (2 ABGS0) :2001+11,0002 220,000
S B(AEH:50%40,000& 200,000
AIOIEHIXI (T s2HsHIX] ) : 10JH*35,000 350,000
OFE (AL 0F& 3kg) 12090 *7,000& 140,000
OF& (5kg) :200H=11,000& 220,000
A2 (A=,130cm):109H*24, 000 240,000
HEE S 2F (2 AHHe ) 14000 %2, 200 880,000
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M2 - HE FItEE 0l&tA
<X &> (Bt @ &H)
G = =oikm | G woa | SO 84 B 2 (89 R)
2 & S LA (8) (A - B)
FE&A ML 01X HE:571+24, 000 120,000
Ot H el CH: 10H+450,0002 450,000
300l A= :505+3,000& 150,000
IIUIAILE A HI0I& :3004%12,0002 360,000
B S (A EF) : 2008 %47, 000 940,000
Ots0l=0X -28 (2,883,050 )
AEXI4E (2209) 3,000&*140 420,000
HERN4E 100&*600 60,000
=11 100& 2,420 242,000
A48 500&*210 105,000
CIXOlH AZetXI4E (116g) 300&*210 63,000
A4(116g) 500&+110 55,000
ZetHOoI0I=EXI4E (178g) 500480 240,000
A4(1789) 500&*190 95,000
Sgolofa(L=00) 108+12,350 123,500
st Ee! 150mm 2J4+10,000 20,000
100mm 2JH*7,500 15,000
50mm 3JH+5,500 11,000
EdIYX 500& %120 60,000
ABHSWCTH St =2 (324)  5IH+57,750 288,750
PN 500&*160 80,000
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M2 - HE FItEE 0l&tA
<X &> (Bt @ &H)
G = =oikm | G woa | SO 84 B 2 (89 R)
2 & S LA (8) (A - B)

OFs0I=CXr  #22 1007H*300 30,000
OroI 24210l 1007H+2,400 240,000
NEE 3007H*300 90,000
ORe0I88E 30071 %360 108,000
ODtAIEIOIZ (22) 80JH=1,920 153,600
(88) 2098 *1,860 37,200
oetel 3 2J1*8,500 17,000
HE(X) 1094*1,700 17,000
g25(1ke) 3071+6,000 180,000
3M PEESEHIOIZ 50&+2,640 132,000

-18t71(5,861,380&)
AR =8E 1002 *2,700 270,000
Ee=s 630t+8,000 504,000
g4 3094%6,000 180,000
OtECHCINtRI I ZI1=(B4) 1002 10,000 ,000,000
ASHE 20l 5J4+18,000 90,000
LHAEZEX 100&*1,400 140,000
MATTE FINISH 1074 +8,000 80,000
AEHOt A E S 2 (244Y) 20J1=15,180 151,800
Htdtel M2 80R-S(5= X) 10set=16,000 160,000
SHEMNE320(5=x) 10set*6,410 64,100




He - HZE FIOHEE Gl&A
<X &> A EH)
G = =535 i‘;ﬁ& il gE 2 (29
2 & S LA (8) (A - B)
OrsSO0l=0x St (AR)25 45mn 10J8*1,300 13,000
5% 90mm  109#=2,700 27,000
95 150mm  10JH+5,600 56,000
S}E0IAER 128 20JH1,980 39,600
}EFMFR 125 200H*4,350 87,000
500m| 3070 +5,500 165,000
=S HE 20 1091+5,400 54,000
ZO0lLtek7724770H 7000 =4,800 336,000
SO0ILtet200SHH A4S0l 10box*5,000 50,000
Z0|L+2t3002¢ H A E 01 10box*4,500 45,000
A AZEQ[(204422000)  502*2,660 133,000
Ht=set 10set*1,500 15,000
Alset 10set 3,500 35,000
Qcl2tts 1094 4,000 40,000
ZE4 5001*2,500 125,000
ot 2ot 5J1+21,000 105,000
FR X JFE(10000) 58 X1+2,530 12,650
ZetotEAE(1000H) 58 XI*760 3,800
8 CH(10000) 3= X1+610 1,830
S2R2A(N) 10943, 000 30,000
S2AA (M) 3= X1+4,800 24,000
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M2 - HE FItEE 0l&tA
<X &> (Bt @ &H)
G = =oikm | G woa | SO 84 B 2 (89 R)
2 & S LA (8) (A - B)

Ot=0I=LIX  Z Gl & AH.Omm*8m 50J1+600 30,000
2.0mm*16m  50J8*3,000 150,000
cl22  15mm=110t 158+1,500 22,500
20mm=110+  20E+1,680 33,600
25mm=110t 158+1,800 27,000
A4 203+8,780 175,600
A4 5Hx5,700 28,500
AHSSHHEB 10C+A+9,360 93,600
48 10CtA+9,360 93,600
B 10C+A+9,360 93,600
HIHIS0t= 2 22 (64412ml)30set*3,000 90,000
MapedJt?0pt imum068140 3074 *2,400 72,000
TH =k JF 21 DMS-265 10J1=16,800 168,000
2AFoE 2JH=141,800 283,600
25t = (46B) 12J1 & +38,500 462,000

-281J1(2,567,600& )
AMOSS =259 510,800 54,000
ABS=S5=36g 10074 *600 60,000
749 1007H*900 90,000
EHEE80g 309660 19,800
ASTS Ol ZHHI0I Z12mm 50 660 33,000
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M2 - HE FItEE 0l&tA
<X &> (Bt @ &H)
G = =oikm | G woa | SO 84 B 2 (89 R)
2 & S LA (8) (A - B)
Ors0l=CI7 16mm  50E+840 42,000
25mm  50E+1,080 54,000
50mm  50E+1,860 93,000
AJMXICHE ZHIOIZ18mm  309H+1,580 47,400
AJMXICHE = HI0I1 255021 &2 309H+1,130 33,900
ASTORAZEIOI I (01 44) 18mm 20 +1,000 20,000
50mm 20E+2,340 46,800
DU SE(SM2em16& )90 *2,200 198,000
SAIE 5071+300 15,000
ATEBEGE 500&*1000 500,000
22t 3 T007(=) 10set=26, 180 261,800
T009(Ztet) 10set=33,990 339,900
98 X+ & 10kg 504 01=4,000 200,000
E XHE 10kg 20€01+3,300 66,000
VEES2(128)  6set=60,000 360,000
SE= 133,000 33,000
OILIOI20IZ -"o12t2 =2(1,139,100)
X HIE 12%44,0008 44,000
SITHAI 12%80,000& 80,000
FHI0{20l 12+30,0002 30,000
AT 28 123%48,000& 48,000
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Mg - HIE =IOHEE Ol &tA
<n& (B9 : &R)
G = =oikm | G woa | SO 84 B 2 (89 R)
2 & S LA (8) (A - B)

OICIOI=0IZ 2834 13+40,000& 40,000

SHALS] 13 *52,000& 52,000

ZOLAI A 13 +48,000& 48,000

AE 13+40,000& 40,000

2Ect 13+36,000& 36,000

OFAIOF 123 %45,000& 45,000

SLdlIf13 12 +80,000& 80,000

=& 13+50,000& 50,000

MIAH 2l 28 13+48,000& 48,000

S HAIE 12%100,0002 100,000

et=28 13*40,000& 40,000

U= 1&+26,000& 26,000

FAad 00X £ 13+36,000& 36,000

SNMEH 13+85,500& 85,500

244 13%25,600& 25,600

SHEs 1&+100,0002 100,000

F&FALA 13 85,000 85,000

-S A& XI(2,336,000)
A4E Xl 90 A#25,000& 2,250,000
B4E Xl 28t A*43,000& 86,000
- XA EH(630,000)
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He - ME FIOHZE OlatA
<X &> A EH)
G = =oikm | G woa | SO 84 B 2 (89 R)
2 & S LA (8) (A - B)
OICIOIZ20IZ 8150 DN(C4182X) 3EA*210,000 630,000
AZRTRIZ ~18tD] (15,870,250 )

22t 1302H+9,000 1,170,000

SIA 13008%14,400 1,872,000

Jbel 13098+1,400 182,000

S H 13074 1,400 182,000

AFE 13090%1,750 227,500

Niet2 AFE & 13090 %300 39,000

KK 13090%240 31,200

T = 25004500 125,000

2HS=2EZ 1309H%600 84,500

CITHRISH B 130JH+5,300 689,000

HEZ 1300H+850 110,500

HEE 13001%260 33,800

SAHEL 130KHE#2,950 383,500

A XS 24000+3,200 768,000

MHOTEI 2K E 4,000 8,000

AIEXIHIOIE 50I1+630 31,500

2rOFXL 30cm 130K %220 28,600

2HOFXF 50cm 107K +630 3,150

AME EH A0l 1001%6,900 69,000
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MY - HZE FH3E GldA
<N &> d&)
= = =5y | 5 o u | 54 & & 2 (99
2 & S LA (8) (A - B)

AIZTOIRIE 23 =2e 10J4+2,000 20,000

OF2 &= 10ME+17,100 171,000

Ol gEZ d2ItE 10ME=25,000 250,000

S 2HARAE 10K E 36,500 365,000

42 10ME+10,400 104,000

ZAEZeH 30M E+43,500 1,305,000

S2et=& 2HIE+55,000 110,000

LAAEYO0lE 2= 130F+2,500 325,000

StEZ2EX 42 014 130&+450 58,500

SRl 48 1,400& %250 350,000

HETX 42 1,000& 140 140,000

GiBlol= 4& 1,000% %480 480,000

AAS AR 58 £+21,000 105,000

A3 YAMAEX 10I4%32,000 320,000

A4 dIAMBERX 1501%12,000 180,000

OF A 10J8%14,000 140,000

CD-R 10®4,500 45,000

&3 T0851 == 20J1%12,900 258,000

3 T0852~6 Z 2l 400H*12,900 516,000

&3 T007 == 12J4%26,500 318,000

23 T009 Zef 25J1+34,000 850,000
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A - HE F=I1EE Ol &tA
<X &> A dH)
G = =535 i‘;ﬁm’i sla) o4 B2 A (e 9
2 & S LA (8) (A - B)
USB 8G 120JH=18,500 2,220,000
USB 16G 15J1*32,500 487,500
2/ H3tE 500G 4I1%128,500 514,000
A ZH| 18/%200,000 200,000
-28tJ| (5,878,000 )
A4 AIARMER 151%12,000 120,000
SA3 IR MZ KX 3I4+29,500 88,500
AHEX 2F 2002200 40,000
SclZIg A3 120J4+18,500 2,220,000
QMS9100 EU4 2J1%265,000 530,000
Ed 1094*7,500 75,000
CO-R 10 «4,500 45,000
M4 5E+150,000 750,000
23 70851 = 20J8%12,900 258,000
23 T0852~6 Z i 40JH*12,900 516,000
3 T007 £ 7I1%26,500 185,500
23 T009 ZH 25J1+34,000 850,000
A 24| 18/%200,000 200,000
EIAERU&OI -18HD] (12,269,4509)
Z g E23 Epson Photo 1290 415,200

Za 671 x39,100&
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M2 - A= F=IIEE AN
<Xl &> (9 @ &H)
ot = “Sdn | Goaa| SO N4 E 2 A (29 9)
n} &t =2 Oil &K (A) (B) (A - B)

Bl A B &M =9 6Il x 30, 100
SCD-RW 2set x 12,000& 24,000
=2 YA Z(MONOJ) 336,000

HB 10EFA x 8,400 &

2B 10EFA x8,400&

48 10E+A x 8,400
S2 U X LIH(TOMBOW) = 10set x 2,000 20,000
2 &GIE 320GB 21 x 99,000 198,000
USBOI 22l 272,600

2G 691 x 17,100&
8G 4l x 42,500

AEXI4E (220g) 1500% x 220& 330,000
=THS 23244 (A SHSWC) 1set x 75,0002 75,000
BABARAAIE (73R-=) 400 x 6,400 256,000
A 500ml 38 x7,700& 23,100
Ot 2224M (=2 4F) 1set x 20,400 20,400
LS E(ZEAN42 x42cm 4000 x 14,300 572,000
S X otMl 250ml 33,000
OFEIZEAF 1L 30 x92,400& 277,200
O & AF 1L 2JH0 x 59,400 118,800
218 S 2 10F 100x 5,500 550,000
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A - HE F=I1EE Ol &tA
<n& (B9 : &R)
& = =5an | G g | 543 & & 2 (29 8)
o &t =2 Oif &4 (A) (B) (A - B)

Bl A EHA&O QEtA AT 2set 3044 x9,900& 297,000

=clE 50ml 1set x264,000& 264,000

EIAEIZZet 70ml 1set x 990, 000& 990,000

FSAEEZ 1L 1044 x 145,000 1,450,000

MEEZ 100g 184 2set x 352,000 704,000

HNEHZ 100g 2144 1set x418,000& 418,000

2 EHs 15 4000 x 1,500 60,000

AR A 250,000

HX 48 4,000& x20& 80,000

MSH 3 1094 x 4,500 45,000

=AM 5009 490 x 2,000 8,000

2322 3set x 1,600 4,800

Hl e sl 10,000

2 2 1094 x 5002
JtE 2 1000 x 5002
M= Hl 54 x2,000& 10,000
Kl TH 28 18,700
18x 20cm(1000H) 2000H x 3,850
20 30=(1000) 2000 x 5,500&
AEW SX 320m/n 3 x 27,500& 82,500
HI0I31 250ml 574 x 2,750& 13,750
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He - ME FIOHZE OlatA
<Xl&> (&9 @ dE)
G = =oikm | G woa | SO 84 B 2 (89 R)
2 & S LA (8) (A - B)
EIAEHUEO A0l 5D x 4,400 22,000

LZHI 10)f x 2,750 27,500
212X 1024 x 3,300 33,000
RPN 3.300
SUEV X (LA) 13,200
CHOIOFBEMI E(S=7) 10K x 8,800 88,000
=2 304 x 11,0008 33,000
S =2 20K x 49,5009 99,000
HED 341,000
50 50 % 0.8mm 4007H x 4408
100 % 100 % 0.8mm 10074 x 1,650
=T 100 100 fmm 10074 x 1,980 198,000
JF2 R4 301 x 8,800 26,400
g oEY 53,000
HolElgts &2 10000 x 3302
D22 200 x 1,0008
ot 40K x 7,700 30,800
cay 75,900

1.0mm 30 x 550&
1.2mm 3000 x 550
1.4mm 30 x 660&
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He - HZE FIOHEE Gl&A
<n& (B9 : &R)
G = =oikm | G woa | SO 84 B 2 (89 R)
2 & S LA (8) (A - B)
Bl A EH O 1.5mm 300K x 770&

EHEU (KHZE) 9094 x5,500& 495,000
ASUH(MZBE)34 90 x7,700 693,000
AEY(MBE)AAAA 2504 x 18,000 450,000
AHYAZLED 102,000
10x 15¢cm 400K x 1,300 &
20 % 20cm 2094 x 2,500&
HEEY 2J4 x50,000& 100,000
SEDIA(NZE) 10070 x 1,300 130,000
AbA 5JH x 27,0002 135,000
LPG 48,000
24 (&=2) 0.4mm 100mx 1,980 198,000
533 white 100g 5= x 11,000& 55,000
HAIOILIZ 1948 20g 2set x 60,500 121,000
Crackle Base 1006 2& x9,900& 19,800
Crackle Base 2008 2& x 9,900& 19,800
Crackle Base 1997 28 x 11,000& 22,000
Glass Etching Cream 291,500
Scalex 100g 10& % 8,800& 88,000
Gold pen 2JH x 38,500& 77,000
3 S (Marking crayons for enamel) 77,000
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M2 - HE 2012 E olaA
<Xl &> (&1 @ &)
& = =5an | G g | 543 & & 2 (29 8)
z 8 8 Ol &4 (A) (B) (A - B)
EAELL&Ol 4= SH(water color enamels) 66,000
M (Underglaxe pencils) 644 1set 99,000
SSHANLIEY 8M 1set 35,200
-28tDJ1(5,776,400&)

IR (997,000& )
ADEMEX(220g) 400 x 700 280,000
QI E E XIEpson A4 23 x 18,000& 36,000
LHAETR 48 80F x2,400& 192,000
X X 1,500& x 110& 165,000

SMIE  (849,200&)
LIRS (Z&A)42x 42cm 4000 x 14,300 572,000
OHEIFEAF AL 300 x 92,400& 277,200

H2R  (3,930,2009)
£ 322844 x 5009) 2,102,000
ESH R (214 x5009) 1,696,200
&A= 2£(1000g x 2) 132,000
[OIWSH <SEASH)>
-AH& & &(4,880,000)

A& X 1603 5,000 800,000
SEYS 602+2,000& *23] 240,000
A& X0 160JH*20,000& 3,200,000
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<X &>

A - A

[l

IHEE Ol &FA

Jo

4]

Jo

B(a)
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400,000
200,000
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80,000

200,000
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<N &> 9 dJ)
= = =5y | 5 o u | 54 & & 2 (99
2 & S LA (8) (A - B)
IHECIRIE  2EAE 12+200,000& 200,000
-XI83l =2lm& =& AHI(1,300,000)
A HA 600,000
ShepEL] 700,000
-HEE |AE2HI(1,320,000)
110,000 %1274 & 1,320,000
FEAML -S=20Hl ZAHI @ 12+200,000& 200,000
-FHAPESAI S EH 800,000
ZAHI 1 28 +23]%200,000&
-FUHIILRUHEZASN T 1,200,000
ZAHI 1 28 +23]%200,000&
2EMEZHl - 23]%200,0002
-EgA3YHES
IMHBICH - 2,200,000 2,200,000
(BE12002 ZAEH 1002 U S S 1,0005
A SF900= & H 9002 )
SEZSHl 0 300,000 300,000
SAMEL=SHl : 1,200,000 1,200,000
Jl2li2= © 3,058,000 3,058,000
H2SAPHHS(HEY SN2 451,000
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<N &> 9 dJ)
= = =5y | 5 o u | 54 & & 2 (99
2 & S LA (8) (A - B)
FE&AML =2t010k0IA ¢ 22,000 22,000
=8, 20,52l ,320,000
2128 +55,000
SFARHI 1 32*6Z%100,000(1€) ,800,000
EgHl  2€x165,000 330,000
BICI2 XM =8l 1,500,000 ,500,000
APMESEH] 1,100,000 ,100,000
S =01 200 (ulLH77,000+ 1 21250,000) 327,000
ZEMEZHl - 808*20,000 ,600,000
HEEEH0IZ : 210,000 210,000
2I1+80,000+ € Ml =8I 2J4%25,000
-Z &4l : 550,000
=X1250,000, A 32300,000
Ots0I=C0IX -t 3 (2,030,0002)
g23 50052000 ,000,000
ZAH 100 2000 200,000
=UE 5005200 100,000
s 5 5005 *100 50,000
At 3% %200,000 600,000
S0 1I1+80,000 80,000

T2 F A X T S2H(560,000)
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<X &> (B9l @ AR)
'} =] 2011 g = | 5()¥ ) .
= ” = &@‘f(’f) of (%3% " - 8) & & 2 H (o9 : Q)

OtS0I=CIX  2AZ 1 %22/%200,000& 400,000
=R 1J4 %25 +80,000& 160,000
-EEEAZ2
ZAE 4E+200,000%22 1,600,000
-OlS0I&HE &t abA (1,300,0009)
EAE MEA Z QA 600,000
&l et H| 700,000
-S0{8 IS XIS HI(180,000& )
w = 18=120,000&
E ) 12 +60,000&
-SY SIS
22O, A= 10,000,000
-8 2 ¢1H((280,0002 )
ZA= 12 %200,000& 200,000
=R 1J1%80,000& 80,000
OICIH20lZ2 -2 & X2 A1 5,000,000
-SYAS T L2 5,000,000
-8t =2 ¢13((660,000)
FA20SZ 2 A 500,000
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<n& (B9 : &R)
L = =50s | G ga | SO 4 E 2 A (Y R)

4]
0
Jjo
2
>
2
=
@

(A - B)

OICIOI=0IZ & 20t 17§%73,0002 17H*85,0009! 158,000
A2CIXFOIZ ~&t2 2101 (560,000)
LA 1 12%200,0002 %23 400,000
49t : 80,0002 %23 160,000

AL, ST FAAUHE bl 14,000,000

ZALE 1E%200,000& 200,000
S == M 2| 80,000

-SAXEZ ™ AISIHI(14,000,000)
Egas 2 4,000,000
SUANSTMA Qi & ¢S 10,000,000

-QIEt# 2telHl(1,330,000)

SASHI(ArlEl) 1690 X %50,000& 800,000
wSHl 1694 2 M =10,000& 160,000
=3l XNI&Hl 1600 S M*10,000& 160,000
& OH| 1694 2 M =10,000& 160,000
2T QIMH R ES 50,000
CIXtAIAE  -st=20 CIXQAOILE 2ZAI2 200,000
=R 100,000
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<n& (B9 : &R)
—
G = =5dn | o 4o | 543 & & 2 (9 R)
o &t =2 Oif &4 (A) (B) (A - B)
CIXtIAeE  -n34&84 =3 (10,600,000)
dANg 228
ZEY ZAH HIU, S+ (EXHZE 4,000,000
SEESH A 3,000,000
2, =3E, €5l 600,000
QEME & 2hAlH| 2,000,000
HAIESS &lEt] 1,000,000
~PNEEN: ] 465,786 525,046 A59,260
S <EAHMSHI>
—&tgler 2 Hl 1,500,000 *23] 3,000,000
-2t Ble ZAHEl THE A 1,500,000
-EHUEXZH| 400,000
-NIEHl 150,000 *4 3] 600,000
—&I A AT Z AR
1e1E 10,0002 «1,800 18,000,000
-JIEtZE AL & & 600,000
-BAUSsH ¥ ¥ 500,000
<M &l >
-S0tel XI& 8l 119H%100,000& »23] 2,200,000
-St=A 73| X EHl 16JH+100,000& *23] 3,200,000
—SHATHXIEHA KT & H] : 300,000 1200 & 3,600,000
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<N &> o HA)
G = =5dn | o 4o | 543 4 & 2 (a9
2 &} =2 Ofl A2 (A) (B) (A - B)
St A 1t -Z=2X&l
5JH Dt«5JH & X *20, 000 500,000
1124 2*37H 24 I +20, 0002 660,000
SHAT 2«52 20,000 200,000
-Atgl S AHEHXI & I
102 *100,000& *23| 2,000,000
FOtw= -Z0{8 01X = HI(300,000)
= 2¥*120,000& 240,000
X1 12%60,0002 60,000
-0.7. X &H1(380,000)
W2 8% *22+20,0008! 320,000
A 3%¥*22+10,000& 60,000
21 -0TXI &8l
KEHI(W=) 20,0002 *6H 2 240,000
XIEHI(Z1) 10,0008 2 +22 40,000
-MTXI
X EHl(m4) 20,0008 6% 22 240,000
KEHI(Z1W) 10,0002 x2H *x22 40,000
-SHHER I
K EHI(W=) 120,000&*2H 240,000
XIEHI(Z1) 60,0008 %1 60,000
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<n& (B9 : &R)
& = ¥%?£§ aﬁ&?’fi sla)e & & 2 A (g9 : H)
z 8 8 Ol &b (A) (B) (A - B)
ASHLW -oBNT AEXTH (1e2Y)
w== 4H+22+20,0003 160,000
L 2H+22+10,000& 40,000
-=80{8 QIS XIEHl (SHel)
w== 18%120,000 120,000
21 1Z+60,000& 60,000
=2t2 0 -0T(18tE-158t0])
K& (2242 *20,0008, w==) 160,000
KEHl (222 *10,0009, =) 40,000
-MT(1EHE-1810])
K SHl (24 20,0009, W) 160,000
NEH (2222 *10,0008, =) 40,000
-A3| (1828t )] )
XS (4H*42%20,0008, w=) 320,000
XSH(2H*42+10,0009, =1) 80,000
- 8O & (28128 )
XISHI(7H*60,000&, W) 420,000
X EHI(22*30,0008, =) 60,000
SEHIEN -SA Y (244120 ):420,0002
N&Hl W=3F*120,000& 360,000
L1 1E+60,000& 60,000
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<Xl &> f . HMAH)
o = =oiam | G o | oA 4 & 2 (29 R)
) 8 = Ol &24 (A) (B) (A - B)
SEEEN 0. TXISHI(8H4160H ) : 240,000
N&EH W58 %22%20,000& 200,000
A W2H*22%10,000& 40,000
-M.TXI& Bl (SHA4140Y ) : 240,000
X & H| =5 %22 %20,000& 200,000
A2 *22x10,000& 40,000
ZFEHALL -MT XIS 160,000
= 3H*20,000&x2
A 2%*10,000& x2
HMEEW -MT X EHI
= 3H*22 20,000 120,000
A 2«22 x10,000& 40,000
QIHUWEEL —MT 21X S
= 4%x20,000&x2 160,000
A 2%9+x10,000& 2 40,000
A HA MN.T X EH|
= 4Y*22 20,000 160,000
A 2%8x22%10,000& 40,000
Ots0I=0IT -S40 & & XS 180,000
OICIH20Z -=2 048 12| (300,000)
= 2%8*120,0003 240,000
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<Xl&> ?HA)
G = =5dn | o 4o | 543 g4 & 2 (9w
o 5 = Oil AFOH (A) (B) (A - B) - - -
OICIHZ 0l 2 A 1¥*60,000& 60,000
-0T XIS HI(240,000)
W 5% *20,000& x2 200,000
A1 2¥*10,000& *2 40,000
AZICI TN -ZE 048 Q1 X| £ HI(180,000)
o 19 120,000
A 19 60,000
Il ot <=M S XAH>
-SHE=WE, &S X2 20,000,000
SR <EXIAIE X KH]>
-S2xUs M0 25,000,000
St <A SSHALXIRH>
-So=x #HAHI(6,570,000 )
KNEH(mAE) @ 17H50,000& 850,000
A (&2 /I ) 1708 5,000 850,000
ol X2 Hl 10¥+60,000&=60,000& 600,000
EHIOI= 100J4*13,000&=1,300,000& 1,300,000
S UCHO! 40J0H+33,000&=1,320,000& 1,320,000
HAS 2| X+ 300JH*1,000&=300,000& 300,000
M (MIRE , MRAEX) -164+ 700,000
Gotalyl 150,000
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<X &> A EH)
G = =oikm | G woa | SO 84 B 2 (89 R)
2 & S LA (8) (A - B)
Srai S| 500,000
-SYM =03 XIR3(33,070,000¥)
S A2t 6,000% %4, 100JH=24,600,000& 24,600,000
St = 150,000& =1614=2,400,000 2,400,000
WX A 50003 *170H=850,000& 850,000
DHAY S (RSAMAE =D 500,000
S OCHO 33,000 *40JH=1,320,000& 1,320,000
SLZ/30IR 200,000
X Atel 35,000& »20E=700,000& 700,000
S&I10] 2 (ME)2,000,000& 2,000,000
S| 500,000
XA SRl Al4tHI (2,050,000 )
A3 (3E) 3H+600,000%=1,800,000& 1,800,000
A AHHI (2 2 & AL 2 1 0tHI) 50,000
Tl (Chatdl) 200,000
—OtH St B T 24,000,000
B85, =AHl S22, I M S
St E s Aes
200,000 *5JH & X *x22]=2,000, 000 2,000,000
A2 S2(1,400,0008)
ZAFE 500,000 *22]=1,000,000& 1,000,000
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2 & S LA (8) (A - B)
st ZIgid| 100,000 *22=200,000& 200,000
&9 100,0002 %23 = 200,000 200,000
-YALM R 2214 (4,360,0008)
MZ23cl 10,0008 %221 +100% 2,000,000
ZIE 2l 500,000 »2& *23] 2,000,000
S0t 80,0003 +22] 160,000
ZIgid] 100,000 23] 200,000
-of S AHEHIFA XI 2 HI (2,660,000 )
S4=9 80,000 *2H 160,000
SMNESEDAN L2H(2X, 220 1,000,000
=E52s5= 1,000,000
Zle| 500,000
KNS Atel SAr2S L
&Il 200,000 *53] 1,000,000
-85S0 g ns-5r4, WA (1,300,000)
ZAbE 400,000 23 800,000
&IgiHl 100,000 «23] 200,000
NIl 300,000
-~SHE MY I(7,040,0008)
S 1,000,000
di3dorE gy 1,000,000
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2 & S LA (8) (A - B)
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4] 60,000 *60E 3,600,000
S =9} 70,0003 *2K 140,000
JIEHIRRI, 2tA S) 1,000,000
QS FSME AAA A=
80,0003 = 1571 7| 2 1,200,000
A YM M 22l AH 0l (14,680,000 )
S ==09¢ 180,000 *1H 180,000
S 4=9¢ 400,000 =104 400,000
SZHl 1,000,000& 1,000,000
E<0l+=¢ 20,0002 159 300,000
e 1,000,000
el 800,000
£ = 300,0002+108 3,000,000
AR SHE EAE 8,000,000
-Agolol tet2etetS0] Al
a0 (He.24) 480,000
Bl 4 100,000 *57H 500,000
JIEH eI &) 1,000,000
Zle| 500,000
“FHYMA &2t 12,000,000
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M ZIH0IE 4,000&*3,0005
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ZAFE 300,000& %102 3,000,000
ZIgid| 100,000& 102 1,000,000

-&t35| OtLtHHLI2 &S HEAFS](480,0009)

& =95 80,0003 = 1K 80,000
&IgH| 200,000 *22] 400,000

-OFS 2 oA S FEX S XA

600,000& 10 6,000,000
<J|Etst A X2 HI>
-St=og XNJS

160 & 2k+500, 000& +22] 16,000,000
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f==30t2l 300,000&*5J4 S Otel 1,500,000

S0 Es 245 NS

St= ™ 523 300,000%57H 1,500,000
“ZoHstd =00 WHl Xd=
5,000& 10 4 Al 2H+4 L 153 24,000,000
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16,000,000 84 &

-At3| S A XI2HI (3,200,000 )
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ZIgdd| 100,000& 53]
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>
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A2dE= - 2227 : 734,0002
A4Z X :8+20,000=160,000&
U (HP) :2x77,000=154,000&
U (&4 ):2+110,000=220,000&
MEEST&HI:100,000%2=200,000&
-EEEAH ¥ S5 HAHI:500,000&

SEEAH MAHl : 200,000&

128,000,000
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500,000
400,000
300,000

10,000,000

20,000,000

1,000,000

1,000,000

3,000,000
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2 & S LA (8) (A - B)
dE2dsE= S5 M8l - 300,000

-AE22d ¢ 6,380,0008 6,380,000
3,190,000%22|=6,380,000&

—AEgHEIZ ¢ 600,000 600,000
w2 10Z 0 100,000+22=200,000
StdENE : 200,000%2%=400,000&

-gdot=0lga 462,000
4G : 12012 +38,500&=462,000&

-MYMSEH 70,000 70,000
X=tH : 1J§%70,000=70,000

-2 240,000& 240,000
69 %22 +20,000=240, 0002

-LT : 660,000 23| (1,320,000&)
=8Hl ¢ 128+10,000& *22] 240,000
WEHl : 128+3=+5,000& *22] 240,000
Al 0 12 +53]%5,0002 +23 600,000
gyl 128+10,000& 23] 240,000

-J1 Xt & & 4=4] (780,000 )
ZAtE 1 2%200,000& 400,000
Al 1 128#x23]%5,000 120,000
&gyl : 22]%30,000& 60,000
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2 & S LA (8) (A - B)
AEYSE= A &tgl @ 200,000 200,000
-AEgEdl 23/%120,000& 240,000
—AITH 12912 +100,000& 1,200,000
-8 34I(3,700,000& )
28t @ 5H*103|x50,000& 2,500,000
18 @ 5E«123]%20,000& 1,200,000
-AtSE &bl ==2ltl 500,000
-Jtiiet bl 300,000
HECITHIE - 2R T f
2oz &2l 1,200,000
& 1,300,000
OtS0l=0X - 4235(2,000,0002)
222 2 &=l 1,000,000
ey (Alh) 1,000,000
- A X 2 9| 3 4F(480,000)
A= 2%%200,000& 400,000
=9 1J4~ 80,000& 80,000
OICIO20Z -M=2 0 DM SHXES A S 2(10,405,000)
IAH, HUE, S5 15002 2,200,000
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OICIOI20IZ  ATHEIZ 147H%100,000& 1,400,000
a3 U4 28+500,0002 1,000,000
=< 2E*300,000& 600,000
24 48+200,000& 800,000
Sa 48%100,000& 400,000
N EWAte 28+200,0002 400,000
& AHtHl Ol &l 42 +300,000& 1,200,000
=4 28+400,000& 800,000
Aaa S8 61,000
g2 1007 400,000
ZCHAl 64,000
At 3t 80,000
Algal &4 1SH| 100,000

-SSASE 22+(8,000,000)
Ql4{H|+1,000F 6,500,000
A0z 1563+100,0002 1,500,000

-SEHEE #491(255,000)
&5 3J4+85,000& 255,000
CIRIAHE  -oHQACIXteIoi4 B OXAIS 700,000
A= WFEZ 0 2| 50,000 <4 200,000
4330 & Al2telH 437,000 452,500 215,500
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<N=> A
G = =5idn | G g m | DA & & 2 (29
2 8 8 Ol &4 (A) (B) (A - B)
4331 A== 120,000 120,000 0
mEsn; <IEtSAI=E> 120,000,000
4332 Al ZHI 317,000 332,500 A 15,500
mEsns <JIEtLAIZHI>
-2 A&l 86,000,000
—EANLE & SRANAE &Y 38,500,000
-gANEE 192,500,000
4400 W=2HlES 30,000 1 29,999
4420 JIEtW=2HI S 30,000 1 29,999
4421 &4 30,000 1 29,999
JI &1t <G&Ea> FEA AES =2 30,000,000
4500 MNES 250,000 494,327 A244,327
4510 &&= 250,000 494,327 A244 327
4519 D23 HEEZ 250,000 494,327 A244,327
JIE 0 <JISAHEES>
-2AFIISHE 250,000,000
4600 Oldlbl 54,999 208,600 A 153,601
4610 oilgld| 54,999 208,600 A 153,601
4611 olldlbl 54,999 208,600 A 153,601
J1= 0t <oldlgl> 49,999,000
HYWEH  oldly] 5,000,000
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1311 EXI bl 2,300,000 0 2,300,000
2l 1t EXI0H Y| 2,300,000,000
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ASILU <AHASSIIMOL >
“HIDI P (B MASE) 7,700,000
(F)FEHO0l 2elok, Halgdeteld
31 (WxH*0mm) : 780%545%530
SEIEN -XN2F  2)H*450,000& 900,000
HEACIRIZ -ZHE MEE (1,375,000%50H) 6,875,000
-JIE8 MSE (473,000%20H) 946,000
-OITH (93,500+87H) 748,000
FEEAMLE -HLUASHA 1set 2,530,000
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OICIH 202 ~AAD| D=2 IR 2
232 100H*630,000& 6,300,000
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E20 -JIEH 22 wsEIINM E HE 22! 120,000,000
NS YO E [ 1,220,000
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L3+ H gt 110 71,000 (VAT &) 781,000
SE&AMA -5Ho| A 1 4set*1,500,000(+Al 24600,000) 6,600,000
JI &1t <AFRE I XHIH O & 5>
-SEII(AMA) 500,000
w2 -A00UE 1CH 300,000
ELny -2 HIE 7Ll 10,000,000
-JIEFEDIHIS 0] 20,000,000
dE2cld -22THAMMAI 1T 4,670,000
SAMXAHE -HADH A Oflof A Al 2,500,000
SHWNSH  slolmol X 304 P 600,000
ZetZely 72 1,000,000
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mEssns -ANsSaE54A Tl 20i+1,000,000& 2,000,000
-ASASA T2l 201%550,000 1,100,000
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C
55J1%481,800& (VATZE &)
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